=
<

a(o @) (rad)
a(d cot(d))

107°FE

PToRd o I R L

9 L1.Uof 9 L1.Uof y /
T r i T r ] ]
@ B : o [ i 1
111 b 4] - e EunthER ki o BEER 00 80 B oL R AEEE B
R 1 2 3 0983210 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—s— DQM_V0001_R000000001__Global__mkFit1000__RECO
—— DQM_V0001_R000000001__Global__mkFit100dt__ RECO
= 1 = 1
= - e ol
2 - e
~ F =
s [ o
S L 5
107 107t
.9100%_....!....!....!....!....!.... .9100%_....!....!....!....!....!....
% r 1 ] : : : % r : : : : :
o r o C
11111 290 lepdas - Hasdas 4doad L 4 -1 L] R, b+
0953 =27 1 0 1 2 3 0953 =" 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ 1=
o
-
o
3 .
5] [
010 i BTG T B |
s F L |
o C |
1M dde - -404dd . Ldoddd 1400l 398
09537 1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


